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Mathematics Mega Quiz for RRB NTPC (Solutions)

S1. Ans.(a)
Sol.
100 =—
T
Ankita Eakta
9 10
1x9 1x9

81 [90]

Hence, marks obtained by Eakta =90

S$2. Ans.(a)
Sol.
Boys

Ratio of — 200
numhber

+75%

Not holding — 150
scholarship

Required 96 = ﬁ % 100 = 72%

$3. Ans.(a)
Sol.

Girls Total
300 —E——/ 500
+ 7 0%

210 —— 360

Candidates failed in Mathematics = 35%

Candidates failed in English = 25%

Mathematics English

Venn diagram of failed students

Hence percentage of passed candidates in both
Subjects =100 - (25 + 10 + 15) = 50%
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S4. Ans.(b)
Sol.

Cow Buffalo

Venn diagram of families which
have buffalo and cow.

Required families which do not have
a cow or a buffalo

=100 - (45 + 15 + 15)

= 25%

Required number = % x 25 =24

$5. Ans.(c)

Sol.

Let number of boys = 300
Number of girls = 200

Boys : Girls
Ratio of Boys — 300 ; 200
and Girls
B80% 75%
Not adults —s 240 150 ;1- 390
\;/
390
i Oy = —
Required % AN, 100
=789
S6. Ans.(d)
Sol.

Let the number of boys = 400
Let the number of girls = 100
Total number of students who

do not get scholarship
25 30

=400 x —+ 100 = —
100 100

=100+ 30=130

Required percentage = % x* 100 =26%

S$7. Ans.(c)
Sol.

. x® _(10)®
decrease in area E% = oo 1%
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$8. Ans.(b)
Sol.

9% change =

100 +R * 100%

. 50 1
Required answer = —— = -
{100+ 50) 3

$9. Ans.(a)

Sol.

Due to reduction, he will save
_240X%35_po oo

100
&

New price of rice/kg. = ?ﬂ =Rs. 30
$10. Ans.(b)
Sol.

Required reduction in consumption

15
=—— X100 =—x 100
(100 + 15) 115

300 1
=—=13—%

$11. Ans.(a)
Sol.

Profit ratio = Investment xtime
X:¥Y=80,000=2:100000 x %
=16:15

$12. Ans.(a)

Sol.
ADAP,

AOBP,

h "
tanfi = oF (ii)
AOAB,
0B? = 0A* + AB?
AB* = h®cot’ B — h’.cot’ &
AB* = h*.[cosec’ B — cosec’a]

ABZ = i2 I:sin‘! a—sin” a

sinlm.zin? §

AB.sina.sinf§

h=

sin® @ — sin? f§

RRB NTPC STAGE-I
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$13. Ans.(c)
Sol.
Sum of all one digit & two digit numbers

1+2+3 4. reirneen ¥99,
_n(n+1]_99>-(1{}{]
22

99 X 50
99

=99 x 50

Avg = 50

S$14. Ans.(b)
Sol.
LACE = 90°

>
90°
Al 5 B
AC=CE=x cm
AB =14 em
From AAEBC
x* + x° = 147
x = 7y2 cm

 Area of AABC = ZAC.BC = 3.7v/2.7V/2 = 49 sq. cm.

i"l!'r"2

Area of semi-circle= = % ¥ 7 %7 =77sq.cm.

Area of shaded regic-n;??—49=28 5q. cm

$15. Ans.(c)
Sol.
D

E Fe

£EIF =90° + - ZEDF
1

=90+ X110

=145°
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$16. Ans.(a)

Sol.
We have = — = 0.3127
then,

1

= X 10000
0.0003197 3.197

=0.3127=x10000

= 3127

$17. Ans.(a)

Sol.

Letcp of Cow =x

Cp of Goat = 2500 - x

According to question
xx1.2=(2500-x) = 1.3
2.5x=2500=x 1.3

x=1300

CP of goat = 2500 - 1300 = 1200 Rs.

$18. Ans.(c)
Sol.
Let take CP = 100 and successive discount 10, 15 and 2094

So SP = 100 X L x 22 89
100 100 100

=6l.2
Hence discount = 100 - 61.2 = 38.8%

Sp = 18x17

$19. Ans.(b)
Sol.

4x+ 3y =0 & 7x+5y=0

X 0 - X 0 5
3

v | 0| 4 vV ol -

Clearly, given lines intersect only at one point i.e. origin.
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$20. Ans.(c)
Sol.

P Q
T
In cyclic quadrilateral OPRQT

£PRQ + £PTQ = 180°

ZPTQ =130°
S21. Ans.(b)
Sol.
In reflection to y-axis, only the x-coordinate’s sign changes.
¥ axis
X axis
(-2,-7) 127
{Reflection point) —Driginal point
S22. Ans.(c)

Sol.
Let the price of the article be 100

. Reduced price = 97

% increase to restore to its original

100 -97
Price = — = 100
97

= 3.09%

$23. Ans.(c)
Sol.

c1=P[(1+i)t—1]

100

[ 1042
= 16000 (1 +—) -1
100

=Rs. 3360
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ATQ,

1
sl = 2 x Rs.3360 = 1680

PX8X3
100

1680 =

P =Rs. 7000

S$24. Ans.(a)
Sol.

144 a*h3c®
24 bic

= 6a’bc?

$25. Ans.(b)
Sol.

X=cos*A-sin* A

= (cos®A + sin®A) (cos®A - sinA)
=1 (cos”A - sin®A)

= cos®A - (1 - cos®A)

=2cos*A-1

$26. Ans.(b)
Sol.

Total amount to be paid without discount
=1600= 23 + 1200 = 10 = 48,800

ATQ,

10 children can get free ticket with 20 Adult,
so all the children will get free tickets

-~ Total discount = 1200 = 10 = Rs. 12000

2000

*x 100
800

04 Discount =

= 24,5904

TEST SERIES
Bilingual

RRBNTPC

PREMIUM

100+ TOTAL TESTS

Validity : 12 Months

7 www.bankersadda.com www.sscadda.com

www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2116/RRB-NTPC-Premium-2019-Online-Test-Series-NTPC-Special

$27. Ans.(d)
Sol.
Total curved 5. Area = 2Znirh + ird

22 22
=2)(?><10X5+?X1(])(15

_ 5500

7

As 209% extra is required

~ Total canvas Required

_ 5500 120

x -
7 100
=942.8 m°
$28. Ans.(c)

Sol. ATQ,
Distance travel by Goods train in

11 hours is equal to the

distance travel by other train in 18 hours.

211 %54=18=x

= x = 33 km/hr

$29. Ans.(b)
Sol. ATQ,
112 x%a%2?

Ta' b’z

=16bx"az’

$30. Ans.(c)
Sol.
Slope(m) =3/4

Point = (0, 5)

Eqtofline = (y-yi) =m (x - x1)

3
= (y-5) = 7 (x-0)
= 4y - 20 = 3x

= 3x -4y =-20
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